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Worked Example - Calculating Free Shares

Investor Shares Issued 100

Capital Gain Fraction 75%

Reference Value f 10,000

Current Fair Price £ 100.00 [Reference Value] / [Investor Shares Issued]

New Value f 20,000 Determined by auditor/accountant

Workers Gain £ 7,500 [New Value] - [Reference Value] * Capital Gain Fraction
New Fair Price £ 125.00 [New Value] - [Workers' Gain] / [Investor Shares Issued]
Number of New Investor Shares 60 [Workers Gain] / [New Fair Price]

New Number of Investor Shares Issued 160 [Investor Shares Issued] + [New Investor Shares]

New Investor Shares are distributed in proportion to the number of Labour Shares currently held
by each member, then added to existing Investor shareholdings.

Worked Example - Taking a Poll at a General Meeting

Investor Shares 10

Investors Shares For 4 20% [Investor Shares For]/[Total Cast] * 50%
Investors Shares Against 6 30% [Investor Shares Against] / [Total Cast] * 50%
Investor Share Fraction 50%

Labour Shares 10

Labour Shares For 7 35% [Labour Shares For] / [Total Cast] * 50%
Labour Shares Against 3 15% [Labour Shares Against] / [Total Cast] * 50%
Labour Share Fraction 50%

Total Vote For 55% [Adjusted Total % For]

Total Vote Against 45% [Adjusted Total % Against]

Worked Example - Calculating the Community Dividend During Dissolution

Public & Charity Funding £ 100,000

Shareholder Funds £ 50,000

Profit and Loss Account £ 200,000

Assets - Liabilities £ 100,000

Community Dividend Fraction 67% [Public & Charity Funding] / ([Public & Charity Funding] + [Shareholder Funds])
Residual Assets f 350,000 [Shareholder Funds] + [Profit and Loss Account] + [Assets - Liabilities]
Community Dividend f 233,333 [Residual Assets] * [Community Dividend Fraction]

Distributed to Investor Shareholders £ 116,667 (which may include asset locked bodies and charities)



